490055 - OF 1010 EBQ

lZx] OF_EBQ

Pos|YacTt No. OnucaHue Konuuectso
1 492040 |Kotea 230 V

2 491885 Monesu naket 230 V

3 490136 = |Moayn Ha npekbcBava

4 1203914 = |plug it-kaben

5 489926  |Kopnyc Ha uekepa 120-230V

6 400584  |BUHT cbC chepuyHO-UMNMHAPUYHa riaBa 3,5 x 16 mm

7  |463090 - |Kanak Ha kopnyca

8 219031  [BMHT cbc chepuyHO-UMIMHApMYHa rnaesa 3,5 x 10 mm

9 488579 |Abpxay Ha rpadwmTHa veTka (pair) 230V

457920 |HamoTKa Ha TaxoMeTbp

[E
= E=]

490144 |EnekTpoHuka 230-240V

12 (400866 |BuHT cbc ckpeTa rnasa M4 x 40
13 |463087 |Kopnyc Ha MoTOpa
14 228707 |BMWHT cbC chepuyHO-UMAMHAPUYHa rnasa 4 x 50 mm

—
[6,]

203777 BanaHcupauy BUHT 14 x 21,8 x 0,3 mm

HE NP RPN, 22

-
N

401524 |PagnanHu chepuyHmn narepum




18 |434430 |YnabTHUTENEH NPbCTEH Ha Bb34YX0BOA 1
19 |440171 |BeHTMnartop 1
20 (401191 |OcurypuTeneH NpbCTeH 2
21 (463095 |MocTt 1
22 |228718 |BWHT cbC chepUUHO-UMNMHAPUYHA raBa M3 x 6,5 1
23 (400605 |UwununHapwuyeH BUHT M3 x 6,5 4
24 492778 KoHaeH3aTop 1
25 |434716 |JleHTn 1
26 (490564 |Kanak Ha narep 1
27 |440729 |lMpuTuckaTenHa npyxuHa 1
28 (487554 |PbkoxBaTtka 1
29 (491194 |KoMnnekT rbBKaB MHOIMOXWAEH MPOBOAHUK 1
30 (436301 |MpbcTeH 1
31 (210031 |DU-BTynka 1
32 (400994 |Btynka 2
33 (462795 |PaavanHu cpepuyHun narepu 1
34 |200747 |Pbkas 1
35 |473550 |kanak 1
36 (494788 |kanak 1
37 (444754 |MpuTuUcKaTesHa NpyXuHa 3
38 (436305 |bonTtoBe 1
39 |450206 |Kanak 1
40 (228581 |BuHT cbc ckpeTa rnasa M4 x 10 3
41 (488755 LlaHra c ranka 1
41 |488761 |LlaHra c ravika 1
42 1492173 |Crtpenka 1
43 1450677 |[aTpOHHMK C orpaHnuuTen Ha abnbounHata Ha npobusaHe |1
44 1450678 |orpaHuumTen 1
45 |228570 |BWHT CcbC cpepuyHO-LMAMHAPUYHa rnasa M4 x 8 2
46 (490143 |®uHa HacTpoika 1
47 |200926 |O-npbCTEH 1
48 |400106 |LWarba 1
49 1490429 |Nloct 1
50 |400492 |BuHT 1
51 (216770 |OcuryputeneH npbCTeH 1
52 |228503 |KanubposaH amck 13 x 19 x 0,5 mm 1
53 (457351 |Perynupalio kosneno 1
54 |436828 |banaHcupaw BMHT 13,2 x 18,8 X 0,2 mm 1
55 |403100 |LWawnba 1
56 (455791 |bontoBe 1
57 |436377 |MputnckatenHa npyxuHa 1
58 |444633 |BbpTaw 6yToH 2
59 (400859 LUnnuHapuyen BUHT M6 x 25 1
60 (200578 [Llanba 6,4 mm 1
61 (436300 |Btynka 1
62 |451537 |WudT Ha pesba M5 x 30 1
63 |451535 |lndT Ha pesba M5 x 20 1
64 451536 |LlndT Ha pe3ba M5 x 25 1
65 [436520 @ |orpaHuuuTen 1
661783305 @ [Cauma 1
67 1436528 ' |MpuTuckaTenHa nNpyxXuHa 1
68 (488577 - |\MnoT 1
69 1450507 « |Kodyx 1
70 1437322 |Btynka 1
71 |228737 BWHT CbC ckpeTa rnasa M4 x 8 8
72 (436477 Mnouva 1
73 (436195 |BbpTaw 6yTOoH 2
74 |451754 |Kpbroe Bopau 2
75 (483449 |HanpaBnsBawa 1
76 |10035623|orpaHuuuren 1
77 |437478 |MNopnoxka 2
78 (219102 |BwHT cbC ckpeTa rnaea 4,0 x 10 mm 2




79 |437307 |3awmTeH Kanak cpely CTbpProTuHM 1
80 |493414 |Mokputne 1
81 (467468 |Kodyx 1
82 |493180 |YnosuTen 3a Tanaw 1
83 (436195 [BbpTaw, 6yTOoH 1
84 |438608 |Onopa 1
85 |772049 |Bunkoobpa3seH knto4 SW 19 1




